KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

ORIGINAL

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

0152	000 0000 0000
Operator: License # 9152	API No. 15 - 023-20637 -00-00
Name: MAREXCO, Inc. Address: 3555 NW 58th St Suite 420	County: Cheyenne
Address: 3555 NW 50th St Builte 420 City/State/Zip: Oklahoma City, OK 73112	NENESWSec33_Twp3_S. R42_ ☐ East ☑ West
	2,310 feet from N (circle one) Line of Section
Purchaser: NGTS, LP	feet from E / (circle one) Line of Section
Operator Contact Person: Stephen W. Marden	Footages Calculated from Nearest Outside Section Corner:
Phone: (405) 942-4880	(circle one) NE SE NW SW
Contractor: Name: Western Well Drilling, LLC	Lease Name: Klie Well #: 1-33
License: 33669	Field Name: Cherry Creek
Wellsite Geologist: Stephen W. Marden	Producing Formation: Niobrara
Designate Type of Completion:	Elevation: Ground: 3,720 Kelly Bushing: 3,725
X New Well Re-Entry Workover	Total Depth: 1,666 Plug Back Total Depth: 1,602
Oil SWD SIOWTemp. Abd.	Amount of Surface Pipe Set and Cemented at 358 Feet
X Gas ENHR SIGW	Multiple Stage Cementing Collar Used? ☐ Yes XXNo
Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth setFeet
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from 1,666
Operator:	feet depth to 770 w/ 75 sx cmt.
Well Name:	Duilling Elvid Management Dlan // / / /// 2////
Original Comp. Date: Original Total Depth:	Drilling Fluid Management Plan J.J. I KJR 3/10/0 (Data must be collected from the Reserve Pit)
Deepening Re-perf Conv. to Enhr./SWD	Chloride contentppm Fluid volume_N // A bbls
Plug Back Plug Back Total Depth	Dewatering method used evaporation
Commingled Docket No	Location of fluid disposal if hauled offsite:
Dual Completion Docket No	Location of fluid disposal if flauled offsite.
Other (SWD or Enhr.?) Docket No	Operator Name:
9/23/05 Spud Date or Recompletion Date 9/24/05 Date Reached TD Completion Date or Recompletion Date	Lease Name: License No.: Quarter Sec. Twp. S. R. East West County: Docket No.:
Kansas 67202, within 120 days of the spud date, recompletion, workov Information of side two of this form will be held confidential for a period of 107 for confidentiality in excess of 12 months). One copy of all wireline logs TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged wells	th the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, for or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. 12 months if requested in writing and submitted with the form (see rule 82-3-s and geologist well report shall be attached with this form. ALL CEMENTING s. Submit CP-111 form with all temporarily abandoned wells.
Signature Staphul March	KCC Office Use ONLY
Title Date: 06/26/06	Letter of Confidentiality Received
THE PARTY OF THE P	If Denied, Yes Date:
Subscribed and sworm to before me this 26 day of	Wireline Log Received
20 U 1 -A	Geologist Report Received RECEIVED
Notary Public: Owner 7 - Cumpton	UIC Distribution
Date Commission Expires: 11/6/10/10 Dommission Expires: 11/6/10/10	KCC WICHITA

Operator Name: MAR	EXCO, Inc	•	Lease Name	: Klie		Well #: <u>1 -</u>	33
ec. 33 Twp. 3	s. r. <u>42</u>	☐ East 🛣 West	County:	Cheyenne	·		
ested, time tool open a emperature, fluid reco	and closed, flowing very, and flow rate	and base of formations p g and shut-in pressures, s if gas to surface test, a rinal geological well site	whether shut-in palong with final ch	pressure reached	static level, hydr	ostatic pressur	es, bottom hole
Orill Stem Tests Taken Yes X No (Attach Additional Sheets)		<u> </u>	Log Formation (Top), Depth a		and Datum	Sample	
Samples Sent to Geolo	ogical Survey	☐ Yes X No		me		Top	Datum
Cores Taken Electric Log Run (Submit Copy)		☐ Yes X No X Yes ☐ No		iobrara		1,518'	2,207'
ist All E. Logs Run:							
_	sated Neu Bond Log	tron/Density					
		CASING Report all strings set-c	_	New Used	tion, etc.		
Purpose of String	Size Hole Drilled	Size Casing Set (In O.D.)	Weight Lbs. / Ft.	Setting Depth	Type of Cement	# Sacks Used	Type and Percent Additives
Surface	9.875	7"	17#	358'	common	120	3%cc,2%gel
Production	6.250	4 1/2"	10.5	1,642'	ASC	75	2% gel, 2%k0 1/4#flocel
		ADDITIONAL	. CEMENTING / S	QUEEZE RECORD)		1
Purpose: Perforate Protect Casing Plug Back TD Plug Off Zone	Depth Top Bottom	Type of Cement	#Sacks Used		Type and I	Percent Additives	
Shots Per Foot		ON RECORD - Bridge Plug Footage of Each Interval Per	, ,		cture, Shot, Cemen		rd Depth
3	1,517'	- 1,554'		99,200 l 20 tons	bs. 16/3 C)2	0 AZ saı	nd perfs
						•	
TUBING RECORD none	Size	Set At	Packer At	Liner Run	Yes ————————————————————————————————————)	
Date of First, Resumerd F		nhr. Producing Met	hod	ing Pumpi	ng Gas Li	ft Cith	er (Explain)
Estimated Production Per 24 Hours		Bbls. Gas 95				Gas-Oil Ratio	Gravity
Disposition of Gas	METHOD OF C	COMPLETION		Production Inter	val	-	2505"
Vented Sold	Used on Lease	Open Hole		Dually Comp.	Commingled _		RECEIVED UN 2 9 2006 C WICHITA
(Other (Spec	ury)				JN 2 9 2006
						KC	CWICHITA

ALLIED CEMENTING CO., INC. 20022

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665	SERVICE POINT:	
	CALLED OUT ON LOCATION JOB START JOB FINISH	_ Pe
DATE 1-23-05 55 1 3 47	COUNTY STATE	
	Caucis, west to State - Cho pense Kain	
OLD OR NEW (Circle one)	14 €	
CONTRACTOR 1.105 term 1.1011 Del.	OWNER Marzyco Inc	
TYPE OF JOB SurFace		
HOLE SIZE 9 1/5 T.D. 365	CEMENT	
CASING SIZE 7" DEPTH 3.58"	AMOUNT ORDERED 120 5ks com	
TUBING SIZE DEPTH	36CC - 26/26	
DRILL PIPE DEPTH		
TOOL DEPTH	1200 1000	20
PRES. MAX MINIMUM	COMMON 120 5Ks @ 10- 17200	
MEAS. LINE SHOE JOINT	POZMIX@	
CEMENT LEFT IN CSG.	GEL 2 5K5 @ 14 2800	75
PERFS.	CHLORIDE 4 5/5 @ 3800 1500	=
DISPLACEMENT 14/2	ASC@	
EQUIPMENT	<u> </u>	
-	@	
PUMPTRUCK CEMENTER Wolf-	<u> </u>	
# // 2 HELPER		
BULK TRUCK	·	
# 315 DRIVER MIKE	@	
BULK TRUCK	·@	
# DRIVER		-
II DITT LIK	HANDLING 126 sks @ 180 $20/00$	<u>~</u>
	MILEAGE 6 Por SIC/MILE 756 ST	<u> </u>
REMARKS:	TOTAL 2337	<u> </u>
•	,	
	SERVICE	
Compat Did Circ		
Comtest	DEPTH OF JOB	
3 BP/ to P.t	PUMP TRUCK CHARGE 6 70 00	?
	EXTRA FOOTAGE@	
		0
	- MANIFOLD@	
	@	
	RECEIVED @	
CHARGE TO: Wester Well Dele	JUN 2 9 2006	00
CHAROL TO. Wester Wife	TOTAI = I I I I I	
STREET	KCC WICHITA TOTAL # 177	
CITY STATE ZIP	PLUG & FLOAT EQUIPMENT	
,	7 (/	
		, –
	1- Controlizac @ 5400	<u>-</u>
To Allied Cementing Co., Inc.		
You are hereby requested to rent cementing equipment		

Allied Cementing Co., Inc P.O. Box 31

Russell, KS 67665

Invoice Number: 098610

Invoice Date: 09/28/05

Sold Marexco, Inc. To: 3555 NW 58th St.

STE #420

Oklahoma City, OK

73112

Cust I.D....: Marex P.O. Number..: Klie 1-33 P.O. Date...: 09/28/05

Due Date.: 10/28/05 Terms...: Net 30

Item I.D./Desc.	Qty. Used	Unit	Price	Net	TX
Gel	1.00	SKS	14.0000	14.00	Т
ASC	75.00	SKS	11.6500	873.75	T
FloSeal	19.00	LBS	1.7000	32.30	T
ClaPro	3.00	GAL	22.9000	68.70	${ t T}$
Handling	80.00	SKS	1.6000	128.00	E
Mileage	100.00	MILE	4.8000	480.00	E
80 sks @.06 per	sk per mi				
Long String	1.00	JOB	1320.0000	1320.00	E
Mileage pmp trk	100.00	MILE	5.0000	500.00	E
Float Shoe	1.00	EACH	200.0000	200.00	T
Latch Down	1.00	EACH	300.0000	300.00	T
Centralizers	5.00	EACH	45.0000	225.00	Т
Basket	1.00	EACH	116.0000	116.00	T

All Prices Are Net, Payable 30 Days Following Subtotal: 4257.75

Date of Invoice. 1 1/2% Charged Thereafter. Tax...: 133.58

If Account CURRENT take Discount of \$\frac{425.71}{25.71}\$ Payments: 0.00

ONLY if paid within 30 days from Invoice Date Total..: 4391.33

RECEIVED
JUN 2 9 2006
KCC WICHITA